Name Practice
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Subtracting Across Zero
Find each difference.
1. 406 2. 300 3. 501 4. 705 5. 605
— 28 — 211 — 268 — 347 — 219
6. 800 7. 907 8. 603 9. 507 10. 706
— 579 — 728 — 347 — 388 — 497
11. 404 -305=__ 12, 501 -223=__  13. 302—-166=__
14. There were 600 ears of corn for sale at the produce market.

15.

16.

17.

18.

At the end of the day, there were 212 ears left. How many ears
of corn were sold?

Darrin has 702 CDs in his collection. Dana has 357 CDs in her
collection. How many more CDs does Darrin have than Dana?

Strategy Practice Party Palace has an order for 505 party
favors. It packaged 218 favors on Saturday and 180 favors
on Sunday. How many more party favors does it still need
to package?

Write a Problem Write a subtraction problem involving
regrouping that has Ted reading 304 pages. Answer
your question.

The Williams Tower in Houston, TX, is 901 feet tall. The
Tower of the Americas in San Antonio, TX, is 622 feet tall.
How much taller is the Williams Tower than the Tower of
the Americas?

A 279 feet B 289 feet C 379 feet D 389 feet
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